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1.

10.

11.

12.

x+T7=-16;x+7—-7=-16—T,x=-23
The correct answer is A.

34m —24m+ 10 = —-8.2; m + 10 = —8.2;
m—+10—-10=-82—10;m = —18.2
The correct answer is A.
_ —4n _ 12
—4n = —12; 4 = 74,n—3

The correct answer is D.

1 1
20 e BZ 3.
3= 18,% Zl{y—% AB); y = =27
The correct answer is A.
24
24p = 30.96, 3 = >0 p = 1.29; The unit price

per can is $1.29.
The correct answer is B.

Let p represent the amount each person pays:

4
4p = 49.60; 7 =+, p = 12.4. Each
person pays $12.40.

The correct answer is B.

—4x —6=-34; —4x—-6+6=-34+6;
_ =4 280

—4x = —28; 4 = _4,x—7

The correct answer is C.

02(6r —5)=28;026r—025=8;12r— 1 =25,
1.2r 9

1.2r—1+1=8+41;1.2r=9;-5

T2 =127 =73

The correct answer is B.

8¢ —6=5¢q+15;8¢ — 5¢ — 6 =59 — 5q + 15;
3g —6=153g—-6+6=154 6;3q =21,

39 21

37347

The correct answer is D.

4b — 10 =2(2b —5);4b — 10 =2+2b— 2+ 5;

4b — 10 = 4b — 10; Since the variable terms and
the constant terms are the same on both sides of the
equation, the equation has an infinite number of
solutions.

The correct answer is C.

x+4=-15x+4—-4=-15-4,x=-19

24=9—y;24+y=9—-y+y;24d+y=09;
24 -24+y=9-24y=—15

13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

6+02c+08c=14,64+c=146—-6+c=14—6;

c=38
1 3 _ sl 3, 3 . &
Zd+z(d+l6)——5,4d+4d+4 16 = —5;

3 4
+Z'L6:—5;d+12:—5;
1

d+12—-12=-5-12;d=-17

g 4 2 & A 4
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_ 4b =56,

4b = —56,22 — =365 - 14

4B3x —5)+2x=8;4+3x — 45+ 2x=28;
12x =20+ 2x=8; 12x + 2x — 20 = §; 14x — 20 = §;

l4x — 20 +20 = 8 + 20; 14x = 28; 125 = 2% ¢ —
3 _o _3. _3)ohz_o.
~ 30100+ 25) = 9; ~ 3+ 104 + (3] - 25 = 9;
2 5
~ 3 Joh+ (3] 25 =9 ~6h — 15=9;
1 1
—6h— 154 15=9 + 15 —6h = 24; ~0 = 2%,

h=—4

4y —-3=8y+21;4y -8y -3 =8 — 8+ 2I;
—4y —3=21; -4y — 3+ 3 =21 + 3; —4y = 24;
—4y 24,

4 = Zpy=-°6

12.6) + 8 = 10.2j + 4.4;
12.6) — 10.2/ + 8 = 10.2j — 10.2j + 4.4;
24/ +8=44,24/+8—-8=44—8;

24— 362V 36 s
R R I
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24.

25.

26.

1 _1(1 1 1,1 1 s
6n+473(2n+15),6n+473 2n+3 15;
1 _1 1 .1 _1 1 .
6n+4f6n+3 15,6n+4f6n+3 15;
%n +4= %n + 5; Since the variable terms on both

sides of the equation are the same but the constant
terms are different, the equation has no solution.
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(@) Let p represent the number of 2 in. paintbrushes
purchased. Since the painter bought
20 paintbrushes, 20 — p represents the number
of 4 in. paintbrushes the painter purchased.

(b) 2.39p + 3.57(20 — p) = 65.5

(©) 2.39p 4 3.57(20 — p) = 65.5;
2.39p +3.57 20— 3.57 + p =65.5;
2.39p + 71.4 — 3.57p = 65.5;
2390 —3.5Tp+71.4=655,—1.18p+ 71.4 = 65.5;
—1.18p+ 714 —71.4=0655—171.4;
118 59
—118 T —LIgP T
(d) The painter bought five 2 in. paintbrushes and
20 — 5 =15, or fifteen 4 in. paintbrushes.

-

~1.18p = —5.9; 5

27.

(a) Let a represent the number of laps that Andrew
walked. Since Kyle walked 2 fewer laps than
Andrew did, a — 2 represents the number of laps
that Kyle walked.

(b) 4a = 6(a — 2)

() 4da=06(a—2);4a=6°a—6°+2;4a = 6a — 12;

—2a __ —12.,

4a — 6a =6a — 6a — 12; 72a:712;_—2:_—2,
a=06

(d) Andrew completed 6 laps; Kyle completed
6 — 2 =4 laps.
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